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h=3.5m w=0.2251t/n D.L4+S.L/D.L=16
o i Lm 8 10 12 14 16 18
w D. 1.80 225 2.70 3.15 3.60 405
(1) D.LASL. 288 3.60 432 5.0 4 5.7 6 6.48
Va= VE D 0.90 112 135 158 1.80 2.02
(1) D+S 144 179 2.16 253 288 323
Ha =He D 1038 0.5 6 0.7 6 0.98 122 147
(v D+S 0.6 1 0.90 1.22 157 195 2.35
Mg =Mp D ~1323 —196 | —266 | —3483 —427 —514
(tem) D+S$ —213 —314 | -—426 | —549 —6.83 —8.22
K Ao D —0.62 o086 | —LiZ | ~—139 —1.69 ~1.99
(1) D+S —0.99 B R L Wit I 1 8 N3 . 5
Q<G - D 0.75 091 1.07 1.23 137 1.52
(1) D+S 120 146 171 197 2.19 243
5 IR
h=3.5m w=0225t/m  DLASL/DIF22 #w=0.200 t A (HATA OB
o—— &M Lo 8 10 12 14 8 m%f,,,)
W D.L. 1.80 2.25 2.70 315 3.60 3.6 0
(t) D.L+8S.L. 396 495 5.9 4 693 792 792
Va=Vg D 0.90 112 135 158 1.80 1.80
(t) D+S 1.98 246 2.97 348 396 3.96
H, =Hg D 0.38 0.56 0.7 6 098 122 1.31
(t) D+S 0.84 143 1.67 2.16 268 2.88
Mg =Mp D —1.33 —1.96 —2.66 —343 —4.27 —458
(tem) D+ S —293 —481 —585 —17.55 —9.39 —1008
Ngo=Npo D —062| —086 —112 -139 —1.69 —1.717
{t) D+S —1.36 —1.89 —246 —3.06 ~387 2 —3.89
Qo =Qgg D 0.75 091 107 123 137 134
(t) D+S 1.6 5 2.00 235 271 3.01 295




